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Important Instructions

1.9 99l & SR < | o) uet @ aie gue ¥
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Part-I (Hindi Knowledge & Writing Ability)

e — o wo (1-2) : F=fiRea v

IR faweul # I 97 v B Faftea SRRy |
1. (A) F81 B Ee

(C) Hfears (D) SIfeerar
2. WAy TR\— (B) g

(C) IRaR (D) =0

2

e

MY § BT TR & 2

) TGET L (B) 2T
©) &8 (D) BHEIRY

4. 9 |9 BT gEUS (U US) YT &
I D9 9T GHNYE HEd § ?
(A) ey TG ¢B) PHIRY

©) JdrE (D) 578

5. 39 N ¥ Ugell Ug HeIarad eril & —
(A) sregdmma \By T\
©) &8 (D) FHIRY

frder — wo Ho (6—9) : =1 yAl & SR
R

6. "HMAEA" AEHT & IR B & ?
(A) T

(B) UEE

€T TIPR gEIE

(D) PERE™

7. MR AfaE # f5a 9y @1 [reweT
$ ®Y ¥ WIeR fbar a7 g ?

(A) 3USH (B) S¢,
e < o~ (D) afae
APGE-2015 (C) [3]

8. "JedRTS NI fhE Pl BN Y@ § ?
(C) wfdd®drer (D) 3 Bret

fay v fawedt # & fAjor wfed @
S WG Bfd B & ?

(A) EE ) wER
(C) gordle (D) ®ea

feaamaa™ &1 99y
HEHY JMH § Sa @) 2
5S-G o) o

10.

fR—efR—R
39 dfdaal § B9 91 eipR © ?
(A) wUD (B) SUHAT
(C) TN D) AR T
11. ‘o v % fg ygg &1 garT & ?
(A) #rer (B) BT
ey (D) ©r§
12. SU BT TGN BT & —
A4 T B afe H—

(B) I @ HeY A
(C) ¥r&g & 3+ |
(D) =79 & P TEI

13. "IN &1 Hel Gie—fdweg & —
(A) T + T8 \4B) A + IE
(C) ¥ + U8 (D)9 + M

14. 1 I & AT 9 B89 drel AR ar
IRac &7 PEd & —

) "R (B) wEE
(C) St (D) UIg
‘ [ Turn Over
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15. QU v vt # g o+ arerm v § —
(A) \araH (B) SAR®
\AC) |fRae= (D) &t

16. H91 X T BTG BT Yoiel |
il 4 faafy o fom 8
TR P T AT |
3 dfdaal | dH-a1 W 2 ?
(A) Hfda = (B) {IR 39
(C) XU I 4D) Iid L~
17. 59 B 3§ IR =R 3R yAP =R H
16 WA BT & 98 Hgarrdl &
(A) 3raT AB) ARSI
(C) e #0) gy

fe I B AR HET e © ?
(A) dR ¥¥ (B) B 3
S ) TR (D) IId ]9

19. "Bd" B GFTIar T8 & —
(A) g9 (B) I%
&) T (D) TG

20. “Peugel” HI qIRET ® —
(A) TTRSITT (B) TS
©) %o By A Wi

f&T v1a s B A 98 vy e
7 YT DR HohT | A QU v fmed} §
A 39 GR § IGifeT e & gl

18.

21

& DI |
(A) 3meTe AB) FFgT
(C) 3reeg= (D) 3rgeg=
22. PR g T BrAT B ?
(A) 3T (B) 9d=H
%m (D) fagrgoy

APGE-2015 (C) [4]

23. &= fegw ®e 79y Wrar & 2
(A) 14 JAFCER yéfmﬁmm
(C) 11 S (D) 15 Rra=R

24, &= quiHTe § oAl @) A& & —
(A) 32 (B) 34
A€y 330\ (D) 36

25. 2=t @ anfe o=l =T 2 ?
(A) urfer B) HepT—
(C) ru¥e (D) "1

A T T 91/ B uygal ek siftH W
BT A (1) 3R (6) B = € 1E R
ST 1 B A BT AR W F 97 Y
@). Q). () Ter (@) @ = & T
A IRI 1T 3R B § 78 € 39 9Ri
DI 3T B F Y A1 T B I
97 D | '

(1) ™ R

(@) SR § S UBKR 2
®) SH® WG BT
(o) wg= @1 9 2

@) 31 BT enf

(6) gatg BT ARy |

A RTTT Baaxa
Yo aaar Dowaax

27. @I SN WA B AT ABHR BT
S aref, 9 3T feedt § & qared |
(A) dferal & dRE §reHET
(B) uferat &Y wier 7 ST
(C) Ul 3rg= 9T w3 JHgy &

BT EA FgRT AT AT Th—qeR Y

26.

BN
28. "3FA BT GIAT" TR BT aief & —
A) = (B) HETUfST
(D)
\;5/7/%@@ !



29. 2= wegp1er § ‘&7 &1 pH fbg avf &
q7g AT B 7

) B (B) ®
AC) A D)
30. I B IRE AT (FRUEr 9m) &

T P | FfS PIg FfeS = 81 a1 9T
(D) & fafea sIR |

gar B @ / e / T
(A) B)
IFR BIg A 7 81!/ DIg Ffe TE |
©) (D)

e — wo wo (31—35) : fAFfIRaT Braar
@ 9y IR I A A W weAl B
IR fadwedt d | gaax forfag |

%o A1 99, 99 HIIR " 9

SR AR, USH Hd HATRI

NI T8 U IET

§O 4l 9, 99 PN AT 99 -

A—QEY ST, FT ST 2

HY Tb TH B I AT P

AFgar - geidl der —

81 I db GA gd=Tl—

31. "HB W 99 99 PHIUR Fd 997 Bfd 7
Il PET B ?
(A) BB A 9T AN &
(B).EB Wl 99941 qufdet 8
PRR 99T BT Sita g ©
(D) BRR AT 3BT &I sIar

32. UTE ¥Ieg T qIRIaTE 8 —

(A) HEAHE (B) R
WET TR (D) Tda
33. 39 ufeeal § srR o1 aref & —
K e \RB) FEsiamETd
(C) =Tl (D) 3%
APGE-2015 (C)

34, B & FTIR 59 ISR &1 Sfigq @
g7
(A) ITERIaTaT
AB) FEEIAEE
(C) GA—TRAIAT I8ThY
(D) THIGC] Bl BB ARAT

35. Dfd T B P URIM S RBT & 7
(A) T & S 9 @
(B) 31Tcq |FHUYT @Y
L(©) THMECT BT BIAR AR B
(D) BB A 9 71 B

36. "S¥R g <o 77| 3l B AR W
IR BT A gAY |
(A) TeTaTIS IR
(B) favgaras ara
AC) THEED aTaG
(D) T gt

fder — wo o (37—38) : arEAIH b forw
T Sfed faber g+ —

37. Jed Hol H UaT Afdd |
(A) gt (B) aut
(€) % 0 ks 8 e

38..615[3?«*‘1'\’1%.51'&91?{?}7—\’@3\”
(A) oI (B) T3
Mﬁﬁﬁﬁ (D) Rrafeea

39, “#fY O BT faaw = © —
(A) AT AB) 3fT 3

(C) fa=rar (D) 379 | BIg T8I
40. “®HpI” BT e, = v v fawmea)

H9 g

(A) BBR (B) fararapy

/(C)/ﬂ'a?\/ (D) fag=

[5]
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AT - 1 (M STeeT)

Part-11 (General Knowleche)

41. TTFPHINITS TRACT DI HFRSR Bl Pl
fsr g A e e @ 2
(A) -doc A xls\v"
(C) pmt (D) xml

42. 99 4 9§ BN G TP PEgeR SfRfET
Req 8 & 7
(A) Linux

1) MS-Word

43. H¥YSX YUl § CD-ROM ERT &1
ST © ?
\,Meﬁﬁa-cﬁa%?ﬁ
(B) ¥few siiftedrer o
(©) Ffew fews
(D) $79 & P13 &

PR F = F ¥ B W ogAge
fargw & € ?

(A) TS &) ez~

(C) P (D) TR

=1 5 & Brex Seas ¥ @@ afedy
el BT & ?

(A) MY, gar

(B) ®IeR BT

\ ) THYH BT A

(D) I8 |

(B) MS-DOS
(D) Unix

44,

45.

46. I H ST URY WSY B yETId)
IS HA P E ?
(A) it Raurer greq
B) = Pemer areg
(C) % SR ITeq
(D) #1 gt yTe Areq

APGE-2015 (C)

[6]

41.

42.

43.

44.

45.

46.

What is the extension of Microsoft Excel
File ?

(A) -doc (B) xlIs

(C) -pmt (D) xml

Which of the following is not an Computer
Operating System ?

(A) Linux (B) MS-DOS

(C) MS-Word (D) Unix

What does CD-ROM refers to in computer
system ?
,Q() Optical Disk
(B) Magnetic Optical Disk
(C) Magnetic Disk
(D) None of the above

Which of the following is not an input
device in computer ?

(A) Mouse (B) Printer

(C) Key-board (D) Scanner

Which of the following item is not unique
on a network ?

(A) IPAddress

(B) Computer Name

(C) Workgroup Name

(D) All of the above

Presently who is the Panchayati Raj Minister
in Uttar Pradesh ?

(A) Sh. Shivpal Yadav

(B) Sh. Kailash Yadav

(C) Sh. Balram Yadav

(D) Sh. Durga prasad Yadav



47.

48.

49.

e ARG § SR U ST D UYH
e T 3reet P o ?

%WWW\/

(B) #e+1 #igw o
(C) TXEAN el ¥l
(D) THIGeT FAT

ARA ¥ Il 3T BrEdT [T BN
@ Ugel Ul NI fhEer diud
g7

(A) T =T

B) SwEuy

(C) EI=HAT
(D) TNHHAT JAeTeT

g § 9 5 9Ra & 434 =
TN B HY F AU TS B B ?

W/A)/mﬁ%?ié’t.w.aagx’/
AB) SRS g9l T=gs

(C) Sikew Hor fem aid
(D) SIR<H . 9.

50. IRA $T Hared ARG T i Al
g7
(A) IgH 30 (B) ugH faqwor
(C) 3=N® Tsh ,\@mm

51. =1 3 ¥ walfte Wl arer <9 i
ae?

\AA) T (B) FTof
(C) FST  AD) 9 RA

52. {99 Yad W WISHT P ST fdhael

AT BRI B 7
(A) 25-30%
(C) 70-75%

_/(*{) 55-60%\"

(D) 80-85%

APGE-2015 (C)

47.

48.

49.

5

p £

32.

~

* ~
~ ~ ~

Who was the first Vidhan Sabha speaker for
Uttar Pradesh in Independent India ?

(A) Purshottam Das Tandon

(B) Madan Mohan Verma

(C) Darbari Lal Sharma

(D) Nafisul Hassan

In India to whom the president needs to
address his/her resignation before
completing the full term ?

(A) Chief Justice of India

(B) Vice President

(C) Prime Minister

(D) Lok Shabha Speaker

Who was sworn in as 43" Chief Justice of
India ?

(A) Justice T. S. Thakur

(B) Justice Dhananjay Chadrachud

(C) Justice Sanjay Kishan Kaul

(D) Justice N.V. Raman

Which is the highest civilian award in
India ?

(A) PadmaShri (B) Padma Vibhushan
(C) Ashok Chakra (D) Bharat Ratan

Which of the following country shares its
border with maximum number of

neighbouring countries ?
(A) China (B) Brazil
(C) Canada (D) India

How much quantity of Plasma is present in
Human blood ?
(A) 25-30%
(C) 70-75%

(B) 55-60%
(D) 80-85%

[ Turn Over
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53. FAIfRT AT TR & R o B g

AT B 7
A vw” (B)
(C) Ipq (D) 31T

54. 4R Rragar i &1 ey Gifd @
fPaama g ?

(A) aaeT (B) WETS
) D) TR~
55. ‘fava S~iven feaw’ ‘w9 AR Sy £ ?
(A) 21 1S (B) 27 Sl
&) 1 e (D) 27 aFRE

56. TR U I BT ST U B «r
g7
(A) IR (B) €9
(C) BrIet D) AR

57. 59 T IRBR gRT FIA Uga! fbar
B fow wwliE @5 R g e
FRICARYT I Giem aRey &) 1=y & ?
(A) =9 y39T
(B) STR Uy
W ORI
(D) @R

58. Rord d& 3ife sfear 4 g frg
N HAgS?
(A) 1941
(C) 1937

(B) 1940
D) 1935

59. fblY U™ YarrE gRT SY geT @ ue
W 8 B fIY &9 & 59 fbas darag
SR BT 99T g £ ?

1
®) 5

\ij

1
(A) 1

Pt

APGE-2015 (C)

58

54.

35.

56.

57.

58.

59.

Which part of the body is affected by
Pneumonia disease ?

(A) Lungs (B) Pancreas

(C) Liver (D) Intestine

Pt. Shiv Kumar Sharma is associated with
which musical instrument?

(A) Tabla (B) Shehnai

(C) Sarangi (D) Santoor

When is “World population day” celebrated?
(A) 21stJuly (B) 27th July
(C) 11thJuly (D) 27th August

Which is the state bird of Uttar Pradesh
state ?

(A) Peacock
(C) Cuckoo

(B) Hans
(D) Saras

Which is the first state government who has
launched a scheme for farmers on certified
seeds to Direct Benefit Transfer (DBT) ?
(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Punjab

(D) Kerala

When was Reserve Bank of India
established ?
(A) 1941
(C) 1937

(B) 1940
(D) 1935

What are minimum number of votes from
the Panchayat members required to remove
Up-Pradhan from any Gram Panchayat ?

1 1
(A) 1 (B) 3

1 2
© 3 D) 5



60. T TS ¥ fba it o BNy # ?
~n(A) 4840 T T (B) 4550 T T
Jé) 5248 T ST (D) 4482 T TS

61. Imgfep fa=d) wifecy ot fam fovsy AT
ST B 7
(A) = e
AB) R, &=
(C) Hrs7 ArE
(D) T@@! Hga ud

62. WAA WRA & UYH ARG g AfxH
TR SRS DI o ?
X) Thad! ASHNITTERT
wptl e wrSve de
(C) TRRF=T TR
(D) IHRAT™T . IR,

63. IRA H ERIR &1 IadTd a1
T ?
(A) 1605-1627%0 "
(B) 1627-16583%0
) 1658-1707 30
(D) 1707-1748 30

64. "?lle B TP BIST Telt T A g o

g Wefd SIEe (STerar) il IR ARar
81" a8 Rigra 7= & 9 e dsnfe
® Rigr w smalRa @ ?
(A) 3TcaC ST
(B) IoT UTehet
(C) e+

0] P

APGE-2015 (C)

(]

60.

61.

62.

63.

64.

O

How many square yards are there in one
Acre ? ‘
(A) 4840 Sq. yards(B) 4550 Sq. yards
(C) 5248 Sq. yards(D) 4482 Sq. yards

Who is known as the father of Hindi
Literature ?

(A) Munshi Premchand

(B) Bharatendu Harishchandra

(C) Bhisham Sahni

(D) Devki Nandan Pant

Who was the first Indian and last Governor
General of independent India ?

(A) Chakravarti Rajagopalchari

(B) Lord Mountbatten

(C) Narsimha Chari

(D) Ramaswami C.R.

What was the ruling period of Jahangir in
India ?

(A) 1605-1627 A.D.

(B) 1627-1658 A.D.

(C) 1658-1707 A.D.

(D) 1707-1748 A.D.

“A small ball of iron get submerged in water
whereas the ship can easily float on water.”
This basic principal of science is based on
whose famous scientist’s theory ?

(A) Albert Einstein

(B) Blaise Pascal

(C) Newton

(D) Archimedes

[ Turn Over



65. TRd BT Ga¥ SO BR P A 7 ?
(A) 3feer Be (B) TER Al
o) fofay  AD) 3w me T

66. dcHTE W SR U Xrod H fhaAr I
. 3 .
(A) ST 25000 (B) T 32000
\ (¥ ST 42000 ) TTHT 52000

67. = ® @ e 0 f 9RAT B SU-
JUITEE B BU H BR8] FHTel ?
(A) HRRST TS

) &t o
O @ 0. Riw
(D) &l HT 3rgarfl

68. BTl B H SR UeY 5T &1 A s
g 3T o Rapre” # gegaal siigersr
Ired gRT IO A B oftam &
oy &t fdsar am ?

(A) B IR
AB) T @ = g d
(C) T &

¥ OKIEREISH

69. fdY furayr & 9Rg @ dfyE &

AR HH § HH AR AP | D

fem W 8 9o © ?
LX) 30 TG 272 (B) 80 Td 540
(C) 54 Td 333 (D) 60 Td 5001

70. fh w18} @1 ol a&p I oI
e’ # afafera =8l fbar T g ?
(A) Siig (B) BT

) 3ETE (D) TIIPITR

APGE-2015 (C)

65.

66.

67.

68.

69.

70.

[10]

- (A) 30and 272

Which is the southern most point of India ?
(A) Indira Col (B) Guhar Moti
(C) Kibithu (D) Indira Point.

At present, how many Gram Panchayats are
in Uttar Pradesh ?

(A) Approx 25000 (B) Approx 32000
(C) Approx 42000 (D) Approx 52000

Which of the following has never served as
the Deputy Prime Minister of India ?

(A) Morarji Desai

(B) Devi Lal

(C) V.P.Singh

(D) Lal Krishan Advani

Recently under which campaign initiated by
Chief Minister Sh. Akhilesh Yadav did Uttar
Pradesh state govt. earned itself a place in
Guniness Book of World Records ?

(A) Swachh Bharat

(B) Clean U.P. Green U.P.

(C) Van Rakshan

(D) Bagh Bachao

As per the Constitution of India, what are
the minimum and maximum number of
members in any Legislative Assembly ?

(B) 80 and 540

(C) 54and 333 (D) 60 and 500

Till date which of the following city has not
been included in “National Capital Region™?
(A) Jind (B) Karnal

(C) Aligarh (D) Muzaffarnagar
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Part-111 ( General Intelligence & Reasoning) Y
71. I + &1 g e B, = @ ef | 71 If denotes subtraction, ‘+’ denotes
ST &, =" T 3ref O HRAT B 3R addition, ‘-’ denotes multiplication and ‘X’
'x" T Ak WRT o B o fr=faRaa denotes division, then which of the following
FHHIN H | B AT T8 8 ? equation is correct ?
(A) 56i12§34;12=102 (A) 56 +12%x34-12=102
\,(»Bij‘_44)—('5i25=203rZ (B) 8+44-5+25=203
112 x44 512 £10 =46 (C) 112x44-12+10=46
(D) 9:1;_64;23;_6=54 (D) 9+64-2x6=54
72. fr wRft # yew fae @ WM wR | 72, On the basis of logical reasoning, find the
aifes vy | SYY T faweg ElﬂT?{a : correct option to replace ‘?’ in the table :
st 13 g7 13 et ?Z
20| 30 [10 20| 30 |10 P
95 | 145| ? 95 | 145 ? 49
s
(A) 225 (B) 75 (A) 225 (B) 75 é
ey 45 _AD) 30 (C) 45 (D) 30
73. Uh TSI 4:30 BT I9Y foxar & & | If& | 73. Ifaclock shows time as 4:30 and its minute
fAsre o gs gd fa=m &Y 3R & o goe hand is on the east side, then which
B gs @1 fowm Far Bl ? . direction shall be the hour hand ?
(A) sférr—gd  (B) <feor—uf¥em (A) South-East  (B) South-West
W—qﬁ (D) TR (C) North-East (D) North
74. T T 9 oA RE & o foag w | 74, In>a birthday party a father invited his son’s
B Teh T oTsfpat &r ESIRIN TSHhI friends. The number of boys invited were
B e refeal | 239 off | far 3 lesser by 2 in comparison to girls. The
F‘ﬁﬂ@,?ﬁﬁ?m(’:ﬁ'\"\‘{“ﬁﬂmﬂﬁ father gave ¥ 10 each to boy and ¥ 20 each
320 JUER Ty A | Ife @t 280 to girl. If he spent a total of T 280, how
G Y Ol TSPl BT G Fama | many boys were invited ?
\,5(/4(4 i (B) 10 7 (A) 8 (B) 10
©) 12 ’(D) 14 (C) 12 (D) 14
APGE-2015 (C) \(’fa” (. , 1 o o (3% [TUHIORr
\ ¥ 2”’43"
/ & v\" y
\ ,,\,/; %
\ \/%b




¢\ r26
a-l fpreses T
75. In a group, 7 people can speak English,
15 aafa f%;—fﬂ 9 9 & 3R 6 E&ﬁﬁ 15 can speak Hindi and 6 people can speak
GOl diet Hhd & | 39 e H Eﬁﬂﬁzl Punjabi. Only one of them can speak all
fd dFT 99T 9 Hbell ? 3R 2 three languages and two amongst the group
fad Pad 2 AN A FHd ¢ | ik can speak 2 languages. How many people
H Eayl fpow aafa € ? are there in the group ?
(A) 23 \_AB) 24 (A) 23 (B) 24
Q}E) 25 (D) 26 ©) 25, (D) 26
76. W& YR § 5 B A, B, C,D 3R E | 76. 5Candidates A, B, C, D and E appeared in
SuRRerd gl afe CH BH 53F PH an exam. C got 5 marks less than B. D got
fie, D?l"ﬁ BY IOW sfern et iR 10 marks more than B and 20 marks less
A@rzoa‘cﬁwﬁﬁ@EaﬁB@f -
22 STEE m Gk st e B st - than A. E got 22 more marks than B. If B
‘ 40%% 2 o AT fray i e ? got 40 marks, how many marks did A got ?
(A) 52 /g) 60 (A) 52 (B) 60
(C) 64 (D) 70 (€) 64 (D) 70
77. /9 9RO § U39 R @ M U | 77. On the basis of logical reasoning, find the
afed wU A EERCH] fdpey gaT=y - correct option to replace ‘?” in the table :
V3169 144 | 289\ A 169 144 | 289
%‘\ V'[121] 196|441\ ?‘f 121] 196/ 441
Lo &| 64 | 817|225\ o 64 | 81 |225
22’ 32]35 | 2 3 32[35 | 2
V\\/»“ % 53 (B) 72 (A) 53 (B) 72
(C) 69 (D) 90 (C) 69 (D) 90
\’l
\'«/ 78. & T HEwRA B @ H T AT | 78. Find the incorrect number given in the
/{9 T B | S eI H&AT BT gal s : following number series :
17, 19, 23, 29, 33, 37, 41 17,19, 23, 29,:33,,37 .41
(A) 17 u,a«)u33\/ (A) 17 (B) 33
©) 23 (D) 41 ©) 23 (D) 41
APGE-2015 (C) [12]
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(A SR B B (e Ao f a RS TO v XY 2
rder w7 W@ 79-80 : %7 UTHl H | Direction Q. Nos. 79-80 : In the following
forg : : @ 91E 3R QT ] & & g Tfgr question choose the missing word in place of
3R TP e UG Udh R Elell 2| <@ | sign (?) on the basis of relationship between the
3R el IR} B FH=T B AHU 7 UX Fel | words given on left hand side of the sign : :
fapeq qardi | ;%2
79. BACE:ONPR::JIKM:? 79. BACE : ONPR : : JIKM : ? —1/_2_
(A) XYWZ (B) UZYW (A) XYWZ (B) UZYW 17 <l
LecS wvxzn~ (D) WVZY (C) WVXZ (D) WVZY 122
- e
80. 122:170::290: ? 80 N2 1705229047 .
(A) 316 B (A) 316 (B) 344 g
/(;a) 360 (D) 362 (C) 360 (D) 362 ’5/3é
81. "y &Y TS W 3y el e f%!'ﬂTrT g7 | 81. Findoutthe number of triangles in the given
figure
(A) 12 Y. SR
5 (A) 12
BT 16 PEN B) 16
(©) 18 N V| b (C) 18
Ly 20— |1/ S (D) 20
82. TP TUU H Q@A F Ul Il & 1P | 82. What is the actual time, if an analog clock
QAT T ('\j's;ﬁ H'I?'ﬂ) # 1 9T 30 seen through a mirror is showing time as
fre W © a1 gaRt & 98 919 5
e
A0 TR 30 Py i, A d
(B) 6 I5@R 30 firre e "
(C) 6 5= 10 fiFe (C) 6:10 %@;}%
(D) 4 g9 30 e (D) 4:30 '
83. U WITT BT 3R Hdhd B gU fasire 7 | 83. Pointing towards a photo, Vinod says, “the
Dzl, ‘g8 R T P AT B T T person in the photo is the daughter of only
gt @ g 21 fFe B Wil arefl daughter of my wife’s mother” How is
TSHI W T AT B 7 Vinod related to the person in the photo ?
(A) T B foe o (A) Uncle (B) Father
(C) WS (D) qTaT (C) Brother (D) Grand Father
[13] [ Turn Over
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84. UHh 18 ¥ & o1 U9 9§ IR 39N B
BI-BIC 89 §91-)1 S dl gl foberd
gq g+ ?

e 216

(C) 124

(B) 24

D)6

85. IS IUHI & TS 3MER P I
quiHTen § SEP HHIG B AHE ™
e s @ A foRea # 9 fwa
Y 31ERT & He™i BT INT HaieDd BT 2

HEART, LIVER, LUNGS, TEETH

(A) HEART

\/96 LUNGS

86. I U U P TR UTHUl Pl SITAT
AT B TH U H b 2 & farda
Held UR I AT b BN ?

(B) LIVER
(D) TEETH

2 1 3

314|312 54|

e8] (ID) (1II)
&@ 3 (B)':L

Wfs (D) 6 T,)

87. afc fH<l At o 2341 g &1 YfAaR
R 2 s ok 4 R RS @
fRrem?

(A) AFEAR (B) HTeTdR

(T TEIR D) FEwfiar

APGE-2015 (C)
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84. If a 18 cm solid cube is cut into smaller

cubes of 3 cm each, how many cubes will

be formed ?
(A) 216 (B) 24
(C) 124 (D)6

85. If each alphabet is given values similar to
their serial then find out which of the
following words will have maximum

~ value?

HEART, LIVER, LUNGS, TEETH

(A) HEART
(C) LUNGS

(B) LIVER
" (D) TEETH

86. Given below are the four different positions
of a dice. Which number will appear

opposite to nupber 2 ?

5 1 A
34139541214
@ (IT) (III) (Iv)

A) 3 (B) 4

<) 5 D)6

87. 1f23rd day of a month is sunday, then which
day was 2 weeks and 4 days ago ?
(A) Monday (B) Tuesday

(C) Wednesday (D) Thrusday
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88. A TAT B U& famg &1 faudia faemani 4

g1 R fHar| 1 5 6 aaax
e S R SR 7 fl =ar | SEe
91 98 iR I g8 W 3R 5 fed
7ol | IO W@RY ST 379 T O
Pt A wE?

(A) 10 fqt (B) 12 &+t

s 1afl 7 () 17 R

89. IR BIAN TP DR A & ARI TR

I F | AL, ST B T1E SR 9T & qen
1, AT B qig AR I B | DA AW
T BN 3 A 381 & STafs HHeT,
3] B a1 AR T
e e o

(B) W MR 309

(C) H¥e 3R AT

\ D) ] AR e ¥

90. TP S H HB MY, 9 T4 45 FRM 5

g 15 S9aRl W Ud TaTell el
el § | et B e A A g
I} Bt RRF &1 = R & @ @
(Fareli af2qd) 186 ®H © A 98f fbax
qrel © 7

88.

89.

90.

) 8
(©) 10 (D) 12 W
. skeksksksk
APGE-2015 (C) [15]

A and B started walking from same point
but in opposite direction. Both after walking
5 km turns toward their right and walked
another 7 km. After that they both again turn
right and walked for another 5 km. What is

the distance between them now ? A}

(A) 10Km (B) 12Km

(C) 14Km (D) 17Km 57 )"
S

Four girls are sitting on the four sides of a
square table. Manju is sitting to the right of
Anju and Veena is sitting to the left of
Kamla. Which two girls are sitting opposite
to each other when Kamla is sitting to the
left of Anju ? o s
(A) Veenaand Manju
(B) Manjuand Anju
(C) Kamlaand Veena
(D) Manjuand Kamla

&

QV

In a group of animals there are so ¥,
ox and 45 chickens. There is one milkman
for every 15 animals. The number of ox in
the group is double the number of cows. If
the total number of heads (including
milkman) is 186 less than the total number
of feets; find out the total number of
milkman present there ?

(A) 6 (B‘ 8

(C) 10 D) 12
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